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ENGLISH VERSION

Instructions : (1) Answer all the questions on the internal option.
(2) Right side figures show the total marks of the

questions.
1  Explain the various methods and the difficulties of 14
National Income Calculation.
OR
1 Critical discussion of Loanable Fund theory of interest. 14
2 What is marginal efficiency of capital ? Clarify the 14
relationship between marginal efficiency of capital and
investment.
OR
2 Explain the concepts of National Income. 14
3  Discuss the effective demand theory of Prof. Keynes. 14
OR
3 Check the trends of National Income in India. 14
4 (1) Clarify the time preference theory of interest. 7
(2) Check the implication of the combined process of 7
multiplier and acceleration.
OR
4  Discuss the theory of capital demand and supply of 14
interest.
5  Answer in brief any two of the following : 14

(1) What is consumption function ? Explain the Psychological
Law of consumption given by Prof. Keynes.

(2) Secular (Economic) stagnation.

(3) Discuss the effecting factors of marginal efficiency of
capital.

(4) Liquidity preference theory of interest.
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